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YA 1 6L Y UL Rl AU €.

1. 2dRHAvLSY dadd 2led 9 2 Gellald, aollsel axadl.

AQA
MURAML ALl 9 Gellold, Mt Al

2. oNeRW8A ved 9 ? MiRd-Al ulls [Asiul el oyfisi-l wsdlal s
241
aRdML vlastdl Aeeudlul sl Al

3. Aty aollsael auendl, cuddl Adéstdl alal aasl saldl.
9
AUl AsAAASIR, Hetd AHedl, d-l [Asi il

4. AABdAA 2ed g ? MRAML R{[Bd &l Al el
A

vidlaotdl 2Riouled alsidl yesdlatl woudl, dd-dl Rald yura asiz dlda
woldizti-l 22l 521

5. () AL [@atl A9 5 vzl d il
(1) AdHLAMLAL You AR B2sl .
(2) ALl Geldll AMULLA ey €.
(3) vieiBiselL vied vl Gello el wiul.
(4)  2R0U[3d sIMER ved 8d sMEIR.
(5)  2ULELs YHUIRL 541 LPG dily wavuy .
(6) dlgrddsid 28l QlHl [acta sl 2ud €.
(7)  SlaAl HIRAHL Glasi-l 3vd Ald €9,
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(6) ARAL GdR e S :

(1) e Al 2540 W2 AseL Hulel .

(a) 10 e (b) 20 @A™ (c) 25 At
(2) 20074 IRdHL AR ALSAL Sdl.

(a) 205 (b) 244 (c) 270
(3) ®IRd ARSI Alell UL M AU 9.

(a) = (b)  elasin () S
(4) dl dseasizlld Hi uHd] ol

(a) 1994 (b) 1997 (c) 1999
(5) LS Ggu-t vildldl 2L Qi sl wudl.

(a) 1927 (b) 1930 (c) 1940
(6) ®RA¥L @8 dd-HIRl Ui 93D LA

(a) 1948 (b) 1952 (c) 1970
(7)  A™US AHAlAL S1aeL ARSI @ldy Ul €.

(a) Ao AxA-l (b))  daldd AxA-l (¢) il GeldlAL
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Instructions :  All questions carry equal marks.

1.  What are infrastructure ? Explain classification of Industries.
OR
Explain the importance of small scale industries.

2. What is public sector ? Evaluate the role of public sector units in the economic
development of India.

OR
Discuss Contribution of Private Sector in Employment in India.

3. Classify Service Sector and give growth trends of Service Sector in India.
OR

Explain the importance of Telecommunication in India and discuss development of
Telecommunication in India.

4.  What is unorganized sector ? Explain advantages of unorganized sector in India.
OR

Describe the problems of unorganized labourers of Agriculture Sector and discuss the
measures taken by the government to improve their conditions.

5. (A) True OR False.
(1) Four main components of infrastructure.
(2) Small scale industries are labour intensive.
(3) Industrialization is a process of setting up private sector industries.
(4) Unorganised workers means domestic workers.
(5) 'LPG'is ashort name of economic reforms.
(6) Transport system is classified in three types.
(7) Coal is an important sources of energy in India.
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(B) Choose the right answer.
(1) Investment limit for the tiny units are

(@ 10 lakh (b) 20 lakh (c) 25 Ilakh
(2) Public Enterprises in India were in 2007.
(@ 205 (b) 244 (c) 270
3) is the biggest public sector of Government of India.
(@ Railways (b) Telecom (c) AirlIndia
(4) The new telecommunication policy was implemented in
(@ 1994 (b) 1997 (c) 1999
(5) Civil aviation department was established in the year
(@ 1927 (b) 1930 (c) 1940
(6) In India the Minimum Wages Act was implemented in
(@ 1948 (b) 1952 (c) 1970
(7) Acts of social security are applied to workers.

(@ Unorganised Sector
(b) Organised Industries
() Small Scale Industries
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